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Gauge variation of non Abelian CS
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Higgs—Chern-Simons densities d = 3,5,7
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Higgs—Chern-Simons densities d = 4

Q) = T TrFL, Fly @

9

2
QB — o Ty [CD (nz FuwFoo + 5 O FuvFoo + 5

1
= FW¢2F,,U>

2
5 (D,0D,® — D, 66D, + D, ®D, %) Fpg] .



Q>



The Higgs—Chern-Simons (HCS) densities
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Gravitational CS densities in 3 and 4
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nA gauge-Higgs to gravity: no contraction
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Chern-Simons Gravities in d = 3,5,7 (without Higgs)
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Chern-Simons Gravities in d = 3,5,7 (with Higgs)
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Chern-Simons Gravities in d = 4 (with Higgs)
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Black hole solutions: d = 3
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The closed-form solution
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Ct, Co are free parameters



Black hole solutions: odd d
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Skyrme—Chern-Pontryagin (SCP) densities: D = 2,3, 4
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Remarks on Skyrme-CP and Skyrme CS densities



The Skyrme—Chern-Simons (SCS) densities
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